Quiz Rational Functions 2018 A Name: l ]W

1) Match each equation with its graph below. - (Y4 JU
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2) For the functions below find the x and y intercepts and vertical and horizontal asymptotes.
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3) Given the following information about a rational function, make a sketch of the function.
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y-intercept: V

x-intercepts: X = -2,x=2
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Vertical asymptotes: X = -3,x=1
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Horizontal Asymptote: V

4) Given the following information about a rational function, make a sketch of the function.
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x-intercepts: X = —2,x=2
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Vertical asymptotes: none
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5) Find the equation of the slant asymptote of h(x). 3 /)C"‘ a ‘%‘ [
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6) Fill in the following information and sketch the function.
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7) Find a possible equation for the rational function graphed below.
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8) Find all the roots of the polynomial
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